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(mm) Om 30m 50m 80m Om 30m 50m 80m
10 1.3 069 907 837 1.3 069 907 837
5 10.6 897 834 763 10.6 897 834 763
0 10.0 895 7.60 6.90 10.0 895 7.60 6.90
=5 038 759 6.87 6.1 038 759 6.87 6.17
=10 811 7.00 6.52 b 9b 811 7.00 6.5 5 9b
=19 762 6.56 6.10 556 762 6.56 6.10 556
$15.88 =15 6.91 593 551 50] 6.91 593 551 501
' =17 6.46 553 513 466 6.46 553 513 466
=50 589 496 460 4717 589 496 460 417
=95 483 4710 3779 343 483 410 3779 343
=30 305 334 308 279 305 334 308 279
=35 318 768 b2y 594 398 268 547 594
=40 551 219 1,96 1.78 251 219 1.96 1.78
P =45 1,05 1.65 153 1.39 .95 1.65 153 1.39
BERRED 10 11.3 10.5 10.2 983 11.3 10.5 10.2 983
5 10.6 986 9 54 01 10.6 9 86 954 917
0 10.0 918 883 838 10.0 918 883 838
=5 038 849 81 765 038 8 49 81 765
=10 817 762 T4 711 811 762 i 711
=19 762 715 6.95 6.66 762 715 6.95 6.66
$19.05 =15 6.91 6.47 6.98 6.02 6.91 6.47 6.98 6.02
(1ZHER) -17 6.46 6.04 586 561 6.46 6.04 5 86 561
=50 589 543 59 5 04 585 b 43 55 504
=55 483 450 436 416 483 450 436 416
=30 305 36/ 355 339 305 36/ 355 339
=35 318 795 5 85 559 318 595 585 2779
=40 557 533 596 215 951 233 596 215
=45 95 187 176 168 95 187 1786 i.68
10 11.0 9 46 88/ 8.19 11.0 0 46 88/ 819
[ 10.3 871 8717 743 10.3 871 871 743
0 05 794 734 6.68 057 7.94 734 6.68
=5 886 718 6.59 594 886 718 6.59 594
=10 759 6.53 6.10 559 759 6.53 6.10 559
=19 701 6.0/ 567 590 701 6.0/ 56/ 590
6 15.88 =15 6.9/ 543 507/ 465 697 b 43 50/ 465
: =y 580 507 469 130 5 80 502 469 430
=50 515 445 416 389 515 445 416 389
=55 415 360 337 300 415 360 337 309
=30 330 787 569 548 330 287 569 248
=35 557 555 599 1.96 557 595 599 1.06
) 98 1.75 165 1.54 198 1./5 165 1.54
Z45 157 1.36 1759 197 151 1736 1159 197
10 11.0 10,3 10,0 06] 11.0 10,3 10,0 06]
5 10.3 955 994 8 o4 10.3 955 W 8 84
0 05 881 849 80 0’5 887 849 80
=5 886 806 773 7.30 886 806 N 730
=10 755 7.08 6.89 6.67 755 708 6.80 6.62
51905 =19 701 6.59 6.471 6.16 701 650 6.41 6.16
- . =15 6.5 589 573 551 657 5 89 Wk 551
REHRL (1Z£ER) =17 580 545 5 31 510 580 545 531 510
=50 515 4873 4770 459 515 483 4770 459
=55 415 397 380 366 415 397 380 366
=30 330 310 309 7797 330 310 309 5797
=35 557 543 537 5599 557 543 537 594
=40 1,98 1.87 1°83 171 i°68 .87 783 171
~45 151 44 149 38 151 44 149 38
10 11.0 0.6 10,5 0.3 11.0 0.6 105 0.3
5 10.3 0°89 976 055 0.3 089 9776 055
0 957 917 6709 8 87 9’57 917 009 8 81
=5 886 844 898 806 886 8 44 898 806
=10 759 .98 79 7.00 759 1.98 79 7.09
=9 707 6.78 6.7 6.60 701 678 6./ 6.60
$22.22 =15 697 6.06 6.00 597 6.9 6.06 6.00 597
: =7 580 561 558 b 4] 580 561 558 547
=50 515 468 463 485 515 468 4673 485
=55 415 409 308 399 415 409 308 395
=30 330 319 316 311 330 319 316 311
=35 557 549 Py 543 557 5749 Py 543
=40 '8 1.9 1°60 1.88 '8 1.6 1°60 1.88
=45 B i 46 45 B i 46 45
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